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ECONOMICS (PAPER-I)

Time Allowed : Three Hours lMaxirnuﬁﬁ Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT gquestions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
chéosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space

provided. No marks will be given for answers written in medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a

guestion shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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HWIs—A / SECTION—A

1. Ffafes § @ v yR F1 3@ @ 150 &t 7 AR
Answer the following questions in about 150 words each : 10x5=50

(@) A AW T & 99 TR F F O 40 F ¥ gl Y T F TE i

Explain the backward sloping supply curve of labour as a choice between
income and leisure.

(b) o SR % orrla, Sga A, v S T | e e o sl w9 B () v
T, (i) aanta TAE AR (i) 71 % RS F T araEey ] Tms w qed Hiig)
Under perfect competition, in the short run, find out graphically, without using

average cost curve, the conditions in equilibrium for the existence of (i) normal
profit, (i) supernormal profit and (i} loss.

(c) Fa & Fm 1 wR S o yerm-gafea fifaw 3% # 3a Hifm)

State Okun’s law and find out the expectations-augmented Phillips curve.

(d) IR g1 % e w H I A" =E R, @ EEe 97 g % 3wEm $ 50 @, adids
Hhal TR IR (WMo We dio) @1 YIITHM TN THd §1 30 HYA 1 TIEIHW Hisig |
“If the interest elasticity of demand for money is low, the monetarists could

predict the real GNP simply by the -use of money supply.” Explain this
statement.

(e) TN 31 3R Taq{id @ g 1 We HNT) N X 8 giEd UR &4 Gl ) GHieg " )
(30 WHo 3M3e) Ht fFa FHFR WEG +d 27
Explain repo rate and reverse repo rate. How do changes in the repo rate affect
EMIs of borrowers?

2. (a) 3@ FAV F FeR TEA [h8 FHERL § ola: wiwar G0 8 R7

In what way Kaldor’s model of income distribution 1s basically a Keynesian
theory? 20

(b) TE wHiow fh AW ager R TPR A @ gt (eifermuiiifes) SR § %01 & T
wHIfTE weR-Fhim 6 TR F1 YA g B g

Explain how Nash equilibrium provides a solution to the problem of strategic
interdependence among firms in an oligopolistic market. 20

(c) esi-Ram whigfd (FAwm) e e TR @ N2 wama +0d | gur a1 87
| gy d Rigiasn % = famm €7 |

How i1s Kaldor-Hicks compensation principle an improvement over Pareto
optimality criterion? What are Scitovsky’'s views in this regard? 10

C-HOZL-O-¢BRPAR/30 2

Prepp

Your Personal Exams Guide


https://prepp.in/

www.prepp.in

Prepp

Your Personal Exams Guide

3. (a) ~TaTd AN H TieoaT F IFaid gegaieud Wi Hifa ey 1 ue 3uge aisw
$ HEGA | 38 FUA B WE HIg)
“Under rational expectations hypothesis, systematic monetary policy will be
ineffective.” Explain this statement using a suitable model. 20
(b) <IN Tob HiHaE gy ¥ AfeoH Rem & ifeda & fore ateran Aemm 7 @ v €
M A B gaiw B
Show that liquidity preference is neither necessary nor sufficient for the
existence of involuntary unemployment in Keynesian system. 20
fc} TZ IMYMd & TE NPT & igond AR §A M7 & Hawia a4 & M T gE1 0% H geain
ShITST |
Derive money multiplier when a part of money supply is exogenous and the
other part 1s endogenous. 10
4. (a) Tordl seforawen ® At gRedifa &7 @ &) g 8, S5 9% (1) AEd AT, (i) 9 R
au (i) o @R & Fael d wn-wn aiwds s im?
In the event of persistent inflation in an economy, what changes the Central
Bank will bring about in fi) reserve ratios, i) bank rate and {i1}) open market
operations? 20
(b) ‘‘merfafedt & foraryn W vATEE 3R RONHE A1 F UNE USA ©1 0 W FUA i ATl
Fu 3/ uRA & ¥4 * FU A9 I F wewe GHART
“Subsidies have both positive and negative impacts on the economy.” Explain
this statement and illustrate your answer with Indian experience. 20
(c) TR il frm # Il F sl & ggr ym 1 30l 3R Iqeh) giefhd &) g
Explain the meaning and significance of money illusion on the part of workers
in the Keynesian theory of employment. 10
TGus—B [/ SECTION—B
5. fafafes 1 8 v g\ = IW I 150 =) ® R
Answer the following questions in about 150 words each : 10x5=50

{a)

{b]

1 AT T8 FEYA ¢ % 2 it ey -gren H 53 A wegl-sma s & hvdE fn
27 O IW B 9§ A qh G

Do you think that the root of Harrod’s instability problem lies in the
assumption of wage-price rigidity? Give arguments in favour of your answer,

T 9gte’ w37 =R Af wegdal F mem ¥ @ Teum SR Hl S dhdl 87

What is ‘immiserizing growth’? How can it be prevented through trade policy

interventions?
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(c)

(@)

(€}

(a)

(0]

(a)

(b)

fc)

T4 FER (M) wEiawia g #7 FA & f5e yER wwEa W gl
How does carbon trading help in reducing environmental degradation?

fft gan (wom) ¥ e g A g o 3fg 29 ¥ yiam-wgeR & e @ | s

EGHT
How do depreciation and appreciation in the cxternal value of a currency
impact a country’s balance of payments?

“giaa i sTEgfea date F iRl wE-@ A vforar 98 R, ofig - & O
21 3 T R WE i

“Balanced and unbalanced growth strategies are not substitutes but
complementary to each other.” Explain this statement.

q-2W Hisd & G B, 4l MR orE A SFam HY 9l THH BhA1 H) wH@Re | 39
N AWIY W g
In the context of a two-country model, derive foreign trade multiplier and
explain its working. What will be its repercussion?

fyw ¥ 3R 3fds qa & faves Fiwg! F: JR 9 7 IWA B 9 AR P2 fave 4
O MR R YiEd 9978 Seid 87 39 IW F Hi0 TR(a g |

Distinguish between Monetary union and Economic union. Do the proliferating
trading blocks adversely affect the {ree trade in the world? Give reasons for
your answer.

fremsfte ant & fou 4Gt wiosfiam & =0 o 3R 35 T @il 27

What are the advantages and disadvantages of capital mobility for developing
countries?

“Sra o% faesl ot 2vfm oAl & mw wiawwreR i @rvrEad it €, 99 9% gd-3ad
[vciaul (33A-N9 UAiciiie) WiEle g1 36 YA & @aeia-as e Hifs

“As long as the substitution possibilities between foreign and domestic
resources are limited, the dual-gap analysis is relevant.” Critically examine this
statement.

T Wl releaen A, S 2 &, qY1, Fg-I9RA 89 91 FTFYR AR 6w (e @ Blo)
&7 8, T gty fugrl i grEm | fag Fitre & ) 96 o gun Iame ot @ e @ @
agm amawrs ® 3R (i) i =fr 3y = Wafihl f afg-= @ e emawms R

in an economy having two sectors, namely, goods-producing sector and
Research and Development (R & D) sector, prove with the help of new growth

theory that (1) both capital and aggregate output must grow at the same rate
and (ii) per capita output must grow at the rate of growth of technology.

gihtas Taem o 87 389 Ted % vy $ifvm % anfds faem # v=g ot awm feg war
wefsarard gftem o w@d 81

What is indicative planning? In this context, explain how State and markets
can play a synergetic role in economic development.
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8. (o) ‘T SmTRm (R TEEe) B A8 R guTd af et I 39 saumen w uEk s
@ 1 7ha v geilae B s @ R

What do you mean by ‘green accounting’? Discuss how this concept can be
incorporated in national income accounting. 10

(b} va 1 faRw w0 8 Ig@ F T WawiE girE 9 wEs 1 Fdiweia (o) s
a6 fe | == i
Discuss the role of renewable energy resources in order to maintain
environmental sustainability with special reference to India. 20

() 4T am-gfs Brea @ vl ¥ dem ol mha ¥ A A afy wen ) @ wed # A
am-Ihg F1 T & fqu By s @ swwig v & ghan i
“Global warming will certainly increase the cry of the earth and the cry

of the poor.” In this context, examine the international efforts to reduce
global warming. 20

% %
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